


Expectations in Addition & Subtraction
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Addition Vocabulary
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Subtraction Vocabulary
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ASf: Partition Jot

4.8+ 3.8 =8.6
N </

7+ 1.6

ASg: Partition Jot

5.6 + /327 = 8.94
\>K\/

8+0.8+ 0.1




A5| Partition Jot

E38 25 E27 ‘I'G = £65. 7‘

N\

€65.00 + £0.71

£42.56 + £13.42







AZe: Column Addition

787567

+ 446278
ﬂ233845

1 1 1




A7g: Golumn Addltlon -

A7 j: Column Addition

With Decimals

7341-567 7907




£21.49 + £56.21







MA2a: Counting On |\ >
837 + 500 = 1337

\ 4500\
(837,

!VIAQb: Counting Qunm
7583 + 5000 = 12583

\ -I-SOOO\




MA2a: Counting On

Ten Thousands

43,826 + 30,000 = 73 826

\ 50000\

MA2b Counting On

Millions

5,763,947 + 4,000,000

\ = 9,763,947
+4,000,000

5,768,947 (9,763,947







MAS: Round & Adjust

4645 + 1996 = 6641

/ \
4645 + 2000 - 4
~_
6645 - 4 =664I

MAS: Round & Adjust

45.2 + 49.9 = 95.1

/ N\
45.2 + 50 - 0.1
\ /
95.2 - 0.1 = 95.1







§II: Column Subtraction
0 10

723
-356
367
§I|d: Column Subtraction
B042
-1776
3266




55“9: Column Subtraction
3 1 712 1

772831

- 427358
315473
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Slig: Column Subtiraction

e 11 18

43
Ryt

24.58
S, ————

£56.21 - £21.49 =










There are 38 people on the bus.

At Stop A, half of the people get off
and 5 get on. At Stop B, a third of
the people get off and 3 get on.

How many people are now on the bus?




Krishna buys a skateboard for
£13.36. He pays with a £20 note.

How much change does he receive?

What is the total of:
£9.87

£16.22
ESA






86 + 37 = 123 minutes
on Sunday

123 — 69 = 54 minutes
difference

Answers




Alisha is correct: £18.35 + £5 - £7.99 - £13.49
Jack is incorrect: £7.99 + £13.49 - £18.35. He has
missed out the £5 pocket money and subtracted the
money in the purse from the amount spent.

Answers




